3. Is x - 2 a factor of p(x) = 6x* - 17x? + 11x - 2?

4. Isx + 4 a factor of f(x) = 5x* + 16x3 - 15x% + 8x + 16? Is x - 1 a factor of f(x)?

Je> o

5. Isx = laroot of f(x)=x5-1? jes
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ICM  Functions Worksheet #6

For each polynomial, state the possible rational zeros. Then find all zeros.

Cf(x)=x3-2x2-x+ 2
+ -
—|)4':’2 l) l)Z

[s]

b. f(x)=3x3+5x?-11x+ 3
+2 t1 1.
t‘)"z;"z l)3> 3

Cp(x) = 6% - 17x% + 11x - 2
+ +1 +31 42 4
rj,t2,t + 'LL 2,"‘ d

(9]

442
- 2, 3,73,
d. f(x)= 3x*+5x3+ x%+5x -

[
& ) 4 4
il,-z,i s,t -2,3 . =1

wir

e. h(x)=5x%-9x?-12x -2 \
+ + +J1 2 -2 |+
|, %2, t4 t2 £, 1243

f. p(x) = 5x* - 46x3 +84x? - 50x + 7 1
+ | + +~ 4 +7 1, ¢
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